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No |XHHDH| X% | X $h % X H N B

1 | 6828 & 6,000 |B# XX BEBLEHEEREZERRE

2 | 6868 =& 5000 |EATETH EDEHES

3 | 689H =4y 12,000 |THRIILIREEBHE

4 | 6A158 b )N 1,380 | EMPR&AN

5 |6A17H _E 5000 | ILERGESRERE

6 | 6819H b)) 12,600 |M4FE MPRMAR

7 | 68218 =& 5000 |E#MR L2 ELEEERBIBRRRE

8 |6A22H b)) 6,088 |4 EMPRMA N

9 |6A24H B 10,000 [TTAGEEFHE - FTTIHEBTH

10 | 68248 E= 5000 [ItERBHEE

11 | 6828H b)) 17,040 |45 E RPR&AK

12 [ 68308 =y: 0] 2,640 [2017TEF/KBERUEERFMAITEELAN

13 | 68308 BH 4,876 | EFH TIHHER(GEITK)

14 [ 68308 = 10,000 [RFEBEASEESBHAER

26 B 60,000 |ZEEF I (S#5E 5000 % 1244)

162,624
X EEtE: 85mUL

684 % & & 2 i “ # 8
CEI 3t 12 60,000 & &t 44 220,000
2 B 6 36,0000 %= & 20 122,500
B 2 14876 B i 5 33,990
B 4 4 37,108 & 4t 6 58,924
B2 B 2 14640 ¥ B 2 14,642
R & 0 of R & |[m 0
sk i} 0 of Tt 0 0
N R 26 162,624 /v Et 77 450,056
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